This question paper contains 8+2 printed pages]
Your RO No....eeeeciiacivcveenen
1653
B.Com. (Hons.)/1 A
Paper Hl—MICRO-ECONOMIC THEORY AND APPLICATIONS-I
(Admissioﬁ of 2004 and onwards)
Time : 3 Hours " Maximum Marks : 75
(Write your Roll No, on the top immediately on receipt of this question paper.)
Note :—  Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
™ JE-T9 H IW st o i fadt o amw
# difeg; dfe aft sad %1 T @ e
=ifen |
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1. (@)  With the help of Calculus, derive the following relation-
ship among Average Revenue, Marginal Revenue an&
Elasticity of Demand : 5

AR

e‘__..____-_
AR -MR

PTO.



(2) 1653
if AR is a rectangular hyperbola, draw the comresponding
MR curve.
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Or
(31Fan)
Calculate cross-elasticity of demand between lemon (z)

and tea (x) from the following data and comment on the

relationship between the two : 5
. Before After
Commodity -
Price Qty Price | Quy
Lemon (z) 0 2 X 15
Tea (x) 2 4 y. || 35
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Prove that on a straight line demand curve, Price elasticity.
of demand decreases continuously from infinity at the price
axis to Z.EII‘O at the quantity axis. 5
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Or
(31T

Prdve that the supply curve given by QS _= 20,000 P,
has unitary elasticity and the supply curve given by
Qs = 40,000 +20,000 P is inelastic. (P, and P, are given
in rupees) : 5
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Draw indifference curves between Pepsi and Beer for two '
individuals Shreyas and Saleem with Shreyas having
stronger preference for Pepsi and Saleem having stronger

preference for Beer. 5
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Or
(3veram)

Rohit’s budget line relating to good X and good Y has
intercepts of 72 units of good X and 60 units of good
Y. If the price of good X is ¥ 5; what is Rohit's income ?
Calculate the price of good Y and slope of the budget
line. Write the equation of the budget line. 5
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Using indifference curve analysis, show that a consumer

will be better off, if given a cash grant instead of an excise

‘'subsidy linked to the consumption of a particular good.” 5
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or
(3teram)

Why is an indifference curve convex to the point of
origin 7 What shape will it take if both of the goods are
“Economic Bads™ ? 5
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Der‘ive Engel curve from income consumption curve for
an-inferior good. 5
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or
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Define consumer surplus. Explain Hicks concept of con-

sumer surplus, 5
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Vandana spends her entire monthly income of ¥ 600 on
two commodities X and Y. The p.rice of X is ¥ 30 and
price of Y is ¥ 10 per unit, Is she in equilibrium at this
point on her budget line 7 Show the- result in 2 diagram. 5
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or
(3rgam)

What is the relationship between slope of a price con-

sumption curve and price elasticity of demand ? 5
Fd YT 7% SR Wi A wig e oo
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Draw lIsoquants, if the two factors of production, namely
labour and capital are :

() Perfect substitutes of each other

(i) Perfect complements of each other. 5
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Or
(3rgam)

What are Ridge Lines ? What is the relevance of these

lines in the theory of production ? 5
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How does a producer choose an optimal input combina-
tion to maximise output subject to a given cost con-
straint ? o 5
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Or B
(3treram)

Explain the three stages of production. In which stage
of production will a rational producer produce and why 7 5
IARA F W T B w2 HIA B TR
FAF AR H m WO H FART FW I
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Explain the concept of economies of scope. How are they
measured ? | ‘ 5
Rftrgers faqeafamsti w1 oo = Hifag
I fRFe ywR T oS § 2

or
(3rgan)

“If production function exhibits constant returns to scale,
it is consistent with diminishing returns to a factor.” Do

you agrtee with the statement 7 Give reasons. 5

“afE IR Wwer W et frax vfiea wehii
FA T, 79 98 QU Gt geaH Wiawd $
mw@m%l"wmwmm@m

T 7 wuw <ifsw)

If TC = (50 + Q) (90 + Q) where TC = total cost,
Q = units of a good produced, find TFC, AFC, TVC, AVC,
AC, MC. %4
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IfE TC = (50 + Q) (90 + Q) B, TRl TC = HW A,
Q = STIfa a%g &t §HE ¥, 99 TFC, AFC, TVC,
AVC, AC, MC § i |

or
(3vrE)

How can you derive the Long-run Average Cost (LAC)
from the Short-run Average Cost (SAC) under traditional
cost theory ? 1%
TR AP fag @ o S STedshien
A o (SAC) ¥ e iEa AE (LAC)
Y T T HEA € 7

How does a price ceiling by the government affect the

producer surplus and consumer surplus ? T4
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Or
(3rg=m)

Explain the concept of “Learning Curve”. What is its
shape 7 What is the impact of learning on downward
sloping “LAC™ curve ? ' 7%
‘ferma o' Y Gwed W HIifTg) THE
ampfa Bt ¥ 2 Ifm @ snimE @Rl ‘LAC
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Distinguish between ““Accounting Cost™ and “Economic
Cost”. Which is more relevant for taking economic
decisions, - | 5
‘ot wrm @i CenfE vt fas
| sufhe frotm @ fag Fiwh sfw g
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Or
(1)

~ Differentiate between stable and unstable equilibrium in

terms of Walras. ' 5
Ry H g ¥ fer ok sfer e # s m
e Hifeg) ‘

Derive diagrammatically the long-run supply curve of a
perfectly competitive industry in case of constant costs. 5
for o @ Refy § i et sam @
deefew 9 o% w1 oEm: g i

Or
(v

“Long-run eguilibrium for a firm under perfect competi-
tion takes place when price is equal to the minimum long-

run average cost.” Explain 5
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Explain how the benefit of a subsidy is split between

buyers and sellers in a competitive market, 5
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or
(3w

Show that in linear homogeneous Cobb-Douglas produc-
tion function X = AK®L'"%, average product of labour and
marginal product of !abour‘depends only upon the ratio
of factors. ' 5
wifTa FioU fF o9 uwaE Fla-STe" SRS
T X = AKPL"e, 19 1 ol SR al wy
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